

Ej 8:

$$A = \begin{pmatrix} -1 & 1 \\ 2 & 0 \end{pmatrix}$$

$$p(\lambda) = \det(A - \lambda I_d) = \begin{vmatrix} -1-\lambda & 1 \\ 2 & -\lambda \end{vmatrix} =$$

$$= (-1-\lambda)(-\lambda) - 2 = (\lambda+1) \cdot \lambda - 2 =$$

$$= \lambda^2 + \lambda - 2 = 0 \quad \lambda = \frac{-1 \pm \sqrt{1+4 \cdot 2}}{2} =$$

$$= \frac{-1 \pm \sqrt{9}}{2} =$$

$$= \frac{-1 \pm 3}{2} \left\{ \begin{array}{l} \frac{-1+3}{2} = \frac{2}{2} = 1 \\ \frac{-1-3}{2} = \frac{-4}{2} = -2 \end{array} \right.$$

$$p(\lambda) = (\lambda-1)(\lambda+2)$$

$\Gamma(A) = \{1, -2\}$  como son duas raíces reais simples  $\Rightarrow$

A diag.  $D = \begin{pmatrix} +1 & 0 \\ 0 & -2 \end{pmatrix}$ . Calatelemos la matriz de paso

$$V_1 = \left\{ \underset{\substack{\parallel \\ \mathbb{R}^n}}{(x, y)} \in \mathbb{R}^2 \mid (A - 1 I_d) \cdot \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\} =$$

$$= \left\{ (x, y) \in \mathbb{R}^2 \mid \begin{pmatrix} -2 & 1 \\ 2 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\}$$

$$(x, y) \in V_1 \Leftrightarrow \begin{cases} -2x + y = 0 \\ 2x - y = 0 \end{cases} \Rightarrow 2x = y \Rightarrow x = y/2$$

$$\text{Así } (x, y) \in V_1 \Leftrightarrow (y/2, y) = y \left( \frac{1}{2}, 1 \right) \Rightarrow$$

$$\boxed{V_1 = \langle (1/2, 1) \rangle}$$

$$V_{-2} = \left\{ (x, y) \in \mathbb{R}^2 \mid (A + 2 I_d) \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\} =$$

$$= \left\{ (x, y) \in \mathbb{R}^2 \mid \begin{pmatrix} 1 & 1 \\ 2 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \right\} \Rightarrow$$

$$(x, y) \in V_{-2} \Rightarrow \begin{cases} x + y = 0 \\ 2x + 2y = 0 \end{cases} \Rightarrow x = -y \text{ así}$$

$$(x, y) \in V_{-2} \Rightarrow (-y, y) = y (-1, 1) \Rightarrow \boxed{V_{-2} = \langle (-1, 1) \rangle}$$

